Verbal Ability & Reasoning - AT&T Placement Test
Question Paper

Directions 1-5: The following questions consist of two words each that have a
certain relationship to each other, followed by four lettered pairs of words. Select
the lettered pair that has the same relationship as the original pair of words.

Q1. Overlook : Aberration
A) Mitigate : Penitence
B) Condone : Offence
C) Error : Omission
)

D) Conviction : Criminal

ANS: B

Q2. Sailor : Pirate
A) Police : Robbers
B) Lion : Lamb
C) Plant : Fungus
D) Major : Sepoy

ANS: C

Q3. llliterate : Uneducated
A) Country : State
B) City : Village
C) Palace : Hut
D) Vision : Sight

ANS: D

Q4. Utopia : English
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A) Odyssey : Greek
B) Tulsidas : Sanskrit
C) Monalisa : English
D) Dante : Latin

ANS: A

Q5. Money : Transaction

A) Life : Death

B) Water : Drink

C) Ideas : Exchange

D) Language : Conversation

ANS: D

Directions 6-8: Pick out the most effective word from the given words to fill in the
blank to make the sentence meaningfully complete

Q6. Help yourself ------ whatever you can use without wasting.

A) with
B) to
C)in
D) for

ANS: B

Q7. Even if rains all day | will not be able to ----- my journey.

A) put by
B) put out
C) put off
D) put away
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ANS: C

Q8. There is an exception ------ every rule.
A) on
B) to
C)in
D) for

ANS: B

Q9. O,T,T,F,F,S,S,E,N,----. What is that letter?

moow>
O-HO W w

Q10. The letters in the word ADOPTS are permuted in all possible ways and
arranged in alphabetical order then find the word at position 42 in the permuted
alphabetical order?

A) AOTDSP
B) AOTPDS
C) AOTDPS
D) AOSTPD

Q11. If a man stands in front of sun what is the first letter of the direction which is
left to him:
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ANS: North (N)

Q12. Five college students met at a party and exchanged gossips. Uma said, Only
one of us is lying. David said, Exactly two of us are lying. Thara said, Exactly 3 of
us are lying. Querishi said, Exactly 4 of us are lying. Chitra said, All of us are
lying. Which one was telling the truth?

A) David
B) Querishi
C) Chitra
D) Thara

Q13. While proceeding on leave (A) / he had orally committed that (B) / he will
resume after two days (C) /No error (D).

ANS: C

Q14. The Cabinet Ministers and the Prime Minister (A) / was at the airport (B) / to
receive the foreign dignitary (C) / No error (D).

ANS: B
Q15.1,2,2,3,3,3,4,4,4,4,1,1,2,2,2,2,3,3,3,3,3,3,4,4,4,4,4,4,4,4,1,1,1,

2,2,2,2,2,2,3,3,3,3,3,3,3,3,3,3,4.....
In the above sequence what is the number of the position 2888 of the sequence.

cozz
N oW A
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